

DOT'S MARKET

"IT'S NOT A NAME,
IT'S A TRADITION."



Download Our App &
Shop from Home

Reiter
White Milk
Half Gallons



WEEKLY
WOW DEAL!

2.59
-.60 DIGITAL COUPON

DOWNLOAD
OUR APP AND
SAVE \$

FINAL RETAIL WITH DIGITAL COUPON
SAVE 60¢ WHEN YOU BUY 1 - LIMIT 2

1.99

MEAT GUARANTEE

Dot's Market guarantees to provide our customers with fresh custom cut meats. Our fresh meat will not contain added solutions.

12.99 lb

Beef Loin
T-Bone Steak

Beef Loin
Porterhouse Steak 13.99 lb

99¢ lb
Farm Fresh
Chicken Leg
Quarters



12.99 lb
Beef Flank Steak



5.49 lb

Fresh 81% Lean
Ground Chuck



2.99 lb

Pork Loin Boneless
Butterfly
Chops

HOT
BUY

1.99 lb

Whole Boneless
Pork Loin
8-10 lb. bag

10/\$10 SALE! FIND MORE ON PAGE 2 MIX OR MATCH

Avocados



Cara Cara Oranges



Cucumbers



Green Peppers



Baker Potatoes



10/\$10
OR \$1.00 EACH

10/\$10 OR \$1.00 EACH



Chobani
Yogurt
5.3 oz.

10/\$10 OR \$1.00 EACH

Best Choice
Buttermilk Biscuits
7.5 oz.



10/\$10 OR \$1.00 EACH

Banquet or Swanson
Fruit or Pot Pies
5.3 oz.



Dot's Market Is Your Custom Butcher Shop

Lenten SPECIALS

4.99

SeaBest
Tilapia Fillets
16 oz.



4.99

Gorton's Frozen Breaded
Fish Fillets or Sticks
9-24.5 oz.

Frisch's Tarter Sauce 16 oz. 4.99

10.99

SeaBest 16/20 ct.
Cooked Shrimp
16 oz.



2/\$7 OR \$3.50 EACH

Bob Evans
Sausage Rolls,
Patties or Links
12-16 oz.



2/\$5 OR \$2.50 EACH

Kentucky
Legend Diced
or Cubed Ham
8 oz.



3.99

Reser's Signature
Mashed Potatoes or
Macaroni and Cheese
20-24 oz.



3.99

Jimmy Dean
Sliced Bacon
12 oz.



From the Deli

7.99 lb

Cajun Turkey
Breast



6.99 lb

Off-the-bone
Ham



7.99 lb

Alpine Lace
Swiss or Gouda
Cheese



7.99 lb

Dot's Own
Egg Salad



4.99 lb

Baked Potato
Salad



Belmont/Kettering
2274 Patterson Rd. - 937-253-6169
Mon.-Sat. 7am-10pm Sun. 8am-10pm

Bellbrook
118 W. Franklin St. - 937-848-6751

Cross Pointe/Centerville
101 E. Alex Bell Rd. Suite 176 - 937-496-5657
Mon.-Sat. 7am-9pm Sun. 8am-9pm

PRICES IN THIS AD GOOD MON., FEBRUARY 23 - SUN., MARCH 1, 2026

MON	TUES	WED	THURS	FRI	SAT	SUN
23	24	25	26	27	28	1

Sign up for Email Deals - E-Coupons and Recipes @ dotsmarket.com

Find us on Facebook
FOR DOT'S DEALS!



GROCERY Favorites

SNACK Time

10 FOR \$10 SALE! MIX OR MATCH



10/\$10 OR \$1.00 EACH

Red Gold Tomatoes or Sauce
14.5-15 oz.



10/\$10 OR \$1.00 EACH

Red Gold Kidney Beans or Chili Beans
10-15 oz.



10/\$10 OR \$1.00 EACH

Red Gold Sloppy Joe
15 oz.



10/\$10 OR \$1.00 EACH

Chicken of the Sea Tuna
5 oz.



10/\$10 OR \$1.00 EACH

Armour Vienna Sausage
4.6 oz.



10/\$10 OR \$1.00 EACH

Best Choice Soup
10.5-11.25 oz.



10/\$10 OR \$1.00 EACH

Best Choice Vegetables
Select Varieties
14.5-15.25 oz.



10/\$10 OR \$1.00 EACH

Best Choice Pasta
16 oz.



10/\$10 OR \$1.00 EACH

Best Choice Potato Pouches
4 oz.



10/\$10 OR \$1.00 EACH

Best Choice Rice
16 oz.



10/\$10 OR \$1.00 EACH

Best Choice Macaroni and Cheese
5.9 oz.



10/\$10 OR \$1.00 EACH

Best Choice Soda
2 liter

HOUSEHOLD Items



11.99

Charmin Bath Tissue
6 mega rolls or
Bounty Paper
Towels 6
double rolls



4.99

Dawn Dish Soap
or Cascade
Action Packs
9-16 ct. or 16-31 oz.



12.99

Tide Liquid or Pods,
73-84 oz.; 25-42 ct.



3/\$5 OR \$1.67 EACH

7-Up Products
2 Liters



2.99

Coke Products
2 Liters

DAIRY Delights



2/\$7 OR \$3.50 EACH

Pillsbury Grands,
Crescents, Cookies,
Pull Apart Bread or
Pizza Crust
8-16.8 oz.



3/\$5 OR \$1.67 EACH

Daisy Sour Cream or
Cottage Cheese
6-8 oz.



1.89

Best Choice Cheese
Chunks or Shreds
7-8 oz.



4.99

Yoplait Gogurt
8 ct.



4.49

Kraft Singles
16 oz.



3.59

Kraft String Cheese
12 oz.



2.99

Walnut Creek Butter
16 oz.



2.99

Dairy Pure Half & Half
Quart



2.49

Dairy Pure Sour Cream
or French Onion Dip
Pint



3.49

Dairy Pure
Cottage Cheese
24 oz.

YOUR FAVORITE Beverages



5.99

Coke Products
6 pk. 1/2 Liter Bottles



6.99

Coke Products
12 pk. Cans

FROZEN Foods

3/\$10 OR \$3.34 EACH

Jack's Pizza
13.8-15.8 oz



4.99

Snickers or Twix Icecream Novelties
6 ct.

4.49

Haagen Daz Ice Cream Bars
3 ct.



2/\$6 OR \$3.00 EACH

Banquet Mega Bowl or Meals
11.5-17 oz.



2/\$5 OR \$2.50 EACH

New York Garlic Toast or Breadsticks
6-8 ct.



2/\$5 OR \$2.50 EACH

Bagel Bites Pizza
7 oz.



3.99

Bridgford Monkey Bread
16 oz.



4.99

Super Pretzel Dogs
9.6 oz.



2/\$4 OR \$2.00 EACH

Pictsweet Vegetables
8-16 oz.



9.99

Sung's Treats Pint

YOUR FAVORITE Beverages

5.99

Pepsi Products
6 pk. 1/2 Liter Bottles



2.99

Pepsi Products
2 liters



SHOP FROM HOME WITH DOTS MARKET APP

Discover weekly ads, clip digital coupons, and explore featured recipes.

3.99

Doritos
6-10.75 oz.



3.99

Ruffles Potato Chips
5.5-10.25 oz.



9.99

Bertolli Olive Oil
25.36 oz.

7.49

Kraft Deluxe Macaroni and Cheese or Velveeta Shells and Cheese
3 pk.



3.49

Classico Pasta Sauce
15-24 oz.



5.49

Duke's Mayonnaise
18 oz.



3.99

Bear Creek Soup Mixes
7.9-11.5 oz.



4.99

Cheez-It, Club, or Townhouse Family Size Crackers
12-21 oz.



1.99

Cousin Willie's Popcorn
3 ct.



4.89

Luzianne Cup Size Tea Bags
100 ct.



6.99

Maxwell House Ground Coffee
10.3-11.5 oz.



3.99

V-8 Juices
4-8 ct.



HOT BUY

3.99

Nabisco Oreos or Cakesters
7.8-14.03 oz.

FOR YOUR Pets

10/\$10 OR \$1.00 EACH

Delectables Cat Treats
1.4 oz.



4.89

Luzianne Cup Size Tea Bags
100 ct.



6.99

Lipton Tea 12 pk. or Pure Leaf 6 pk. Tea



2.99

Fresh Strawberries
16 oz.



2.99 ea.

Sumo Mandarins



Fresh PRODUCE

Fresh Cut Fruit Available!

We Deliver! www.dotsmarket.com

1.79 lb

Beef Steak Tomatoes



2.99

Gold Potatoes
5 lb. Bags



2.49 lb

Red or Green Grapes



3.99 lb

Fresh Asparagus



The Finest Spirits

SAVE \$2.00



5.99

Jacob's Creek Wines
750 mL

SAVE \$8.00



18.99

La Marca Prosecco Wines
750 mL

SAVE \$2.00



9.99

Chi Chi's Cocktails
1.7L

SAVE \$8.00



12.99

Oyster Bay Sauvignon Blanc Wines
750 mL

SAVE \$4.00



12.99

Estancia Wines
750 mL

LARGE BEER & FRESH MEAT SELECTIONS WITH DOWN-HOME SERVICE & FEEL!

DotsMarket.com
Patterson: Call 937-253-6169
Bellbrook: Call 937-848-6751
Centerville: Call 937-496-5657

Fresh MEATS

Custom Cut & USA Grown!



6.99 lb

Boneless Beef Shoulder Roast

4.99 lb

Boneless Stuffed Pork Chops



7.99 lb

Lean Beef Stew Meat



2.69 lb

Boneless Pork Loin Roast



4.99 lb

Pork Loin Smoked Chops



10% OFF

Wine purchase of 6 or more bottles 750 ml. or 1.5 lt. (this excludes clearance items)

Non-Alcoholic Selection of the Week

9.99

Stella Artois NA Beer
6 pk. Bottles



Check Out Our Brews

16.99

Heineken Beer
12 pk. Bottles



25.99

Michelob Ultra Beer
24 pk. Cans



22.99

Busch, Busch Light Beer
30 pk. Cans



Bakery ITEMS

3.99

Best Choice Mini Cupcakes
12 ct.



4.49

Best Choice Brownie Bites
10.5 oz.



4.99

Clyde's Yeast Glazed Donuts
12 ct.



49¢

J.J.'s Snack Pies
4 oz.



REWARDS PROGRAM SIGN UP TODAY TO EARN POINTS FREE GROCERIES!

Dot's will never EVER sell, rent or share any personal information You Give Us!

Our Commitment to you, our valued customer, is to bring forth quality products, at fair prices and to provide you with the best possible service from our knowledgeable staff.

MONEY ORDERS AVAILABLE • ATM AVAILABLE



Quantity rights reserved. Not responsible for printing errors.